
A total of 8,760 students go to Greendale High. If enrolling in one of the 8

after-school clubs is mandatory, and each club accepts the same number

of members, how many students does one club have?  

3)

A large wheat farm sells 7 batches of wheat that add up to 234,976 bags. If all

the batches had the same number of bags, how many bags did each batch

contain?

2)

An electronics store purchased an equal number of phones and laptops. If the

store bought 65,430 devices in all, how many phones did the store purchase?

4)

A company has 95,670 employees working in 3 shifts, with an equal number of

employees in each shift. What is the number of employees in one shift?

1)

There are 5,409 little stars embroidered in 9 equal rows across an extra-large

rug. How many stars does each row contain?

5)
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